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GEODETSKI RAČUNI – VAJE 

VAJA 2 – RAVNINSKA TRIGONOMETRIJA – REŠITVE NALOG 

 

Naloga 1 

𝒂 = 𝟏𝟒𝟒, 𝟏𝟔 𝐦 𝛼 = 33° 38′ 21,7′′ 

𝒃 = 𝟗𝟓, 𝟗𝟐 𝐦 𝜷 = 𝟓𝟔° 𝟐𝟏′𝟑𝟖, 𝟑′′ 

𝑐 = 173,16 m 𝛾 = 90° 00′00,0′′ 

 

Naloga 2 

𝒂 = 𝟏𝟓, 𝟎𝟗𝟓 𝐦 𝛼 = 36° 15′ 22′′ 

𝒃 = 𝟏𝟗, 𝟑𝟕𝟐 𝐦 𝛽 = 49° 22′ 15′′ 

𝑐 = 25,451 m 𝜸 = 𝟗𝟒° 𝟐𝟐′ 𝟐𝟑′′ 

 

Naloga 3 

𝑎 = 19,651 m 𝜶 = 𝟓𝟒° 𝟖′ 𝟏𝟏′′ 

𝒃 = 𝟏𝟗, 𝟗𝟗𝟒 𝐦 𝜷 = 𝟓𝟓° 𝟑𝟐′ 𝟑𝟔′′ 

𝒄 = 𝟐𝟐, 𝟖𝟑𝟐 𝐦 𝜸 = 𝟕𝟎° 𝟏𝟗′ 𝟏𝟑′′ 

 

Naloga 4 

𝑎 = 35,505 m 𝜶 = 𝟐𝟓° 𝟑𝟎′ 𝟐′′ 

𝑏 = 81,731 m 𝜷 = 𝟖𝟐° 𝟏𝟗′ 𝟏𝟖′′ 

𝒄 = 𝟕𝟖, 𝟓𝟏𝟑 𝐦 𝛾 = 72° 10′ 40′′ 

 

Naloga 5 

𝑎 = 22,374 m 𝛼 = 49° 41′ 40′′ 

𝑏 = 17,199 m 𝜷 = 𝟑𝟓° 𝟓𝟑′ 𝟐𝟏′′ 

𝒄 = 𝟐𝟗, 𝟐𝟓𝟐 𝐦 𝜸 = 𝟗𝟒° 𝟐𝟒′ 𝟓𝟗′′ 
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Naloga 6 

trikotnik 1: 

𝑎 = 17,199 m 𝛼 = 49° 41′ 40′′ 

𝑏 = 22,374 m 𝜷𝟏 = 𝟖𝟐° 𝟒𝟔′ 𝟑𝟗′′ 

𝒄𝟏 = 𝟏𝟔, 𝟔𝟑𝟓 𝐦 𝜸𝟏 = 𝟒𝟕° 𝟑𝟏′ 𝟒𝟏′′ 

 

trikotnik 2: 

𝑎 = 17,199 m 𝛼 = 49° 41′ 40′′ 

𝑏 = 22,374 m 𝜷𝟐 = 𝟗𝟕° 𝟏𝟑′ 𝟐𝟏′′ 

𝒄𝟐 = 𝟏𝟐, 𝟑𝟏𝟏 𝐦 𝜸𝟐 = 𝟑𝟑° 𝟒′ 𝟓𝟗′′ 

 

Naloga 7 

𝑎 = 23,53 m 𝜶 = 𝟕𝟓° 𝟑𝟓′ 𝟏𝟏′′ 𝒗𝒂 = 𝟕, 𝟓𝟕 𝐦 

𝑏 = 19,74 m 𝜷 = 𝟓𝟒° 𝟐𝟎′ 𝟑𝟓′′ 𝒗𝒃 = 𝟗, 𝟎𝟐 𝐦 

𝑐 = 18,63 m 𝜸 = 𝟓𝟎° 𝟒′ 𝟏𝟒′′ 𝒗𝒄 = 𝟗, 𝟓𝟔 𝐦 

  𝑺 = 𝟏𝟕𝟖, 𝟏 𝐦𝟐 

 

Naloga 8 

𝒉 = 𝟔𝟕, 𝟕𝟎𝟓 𝐦 

 

Naloga 9 

𝒉 = 𝟐𝟐, 𝟎𝟔𝟕 𝐦 

 


